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Enrollment No: _______________________         Exam Seat No :_______________________ 

C.U. SHAH UNIVERSITY 
Summer Examination-2019 

 

Subject Name : Estimating, Costing and Contracting 
 

Subject Code : 2TE06ECC1    Branch: Diploma (Mechanical) 

    

Semester : 6         Date :  29/04/2019   Time : 10:30 To 01:30   Marks : 70 

 

Instructions: 

(1) Use of Programmable calculator & any other electronic instrument is prohibited. 
(2) Instructions written on main answer book are strictly to be obeyed. 
(3) Draw neat diagrams and figures (if necessary) at right places. 
(4) Assume suitable data if needed. 

 
Q-1  Attempt the following questions: 

 
(14)  

 a)  In cost accounting, the overtime is considered as  

  A)  indirect costs B)  overhead 

costs 

C)  premium 

costs 

D)  both a and b  

 b)  Which of the following is Direct Material cost  

  A) Lubricants B) Fuel C) Grease D) Wood for the 

furniture 

 

 c)  The direct material costs are added into direct manufacturing costs to calculate  

  A)  discuss costs B)  prime costs C)  Selling cost D)  None of the above  

 d)  Factors affecting the arc welding cost is _______  

  A) Labour cost B) Welding time C) Power 

consumption 

D) All of the above  

 e)  The process of assigning the indirect costs to any specific cost object is classified as  

  A)  economic cost B)  cost tracing C)  cost 

allocation 

D)  non-economic 

costs 

 

 f)  The technique which is helpful for accurate forecasts about costs to be incurred in 

future is classified as 

 

  A)  unit estimation B)  production 

estimation 

C)  cost 

estimation 

D)  Price estimation  

 g)  What is the full form of D.G.S & D?  

  (a) Directorate 

general of 

supplies & 

disposals 

(b) Director of 

general supply & 

disposals  

(c) Director of 

general supply & 

dissipation 

(d) None of this  

 h)  In which type of contract responsibility given to the contractor to supply man- 

power 

 

  (a) Labour (b) material (c) Schedule (d) All above  
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contract   contract   Contract   

 i)  The component of total cost which never changes with change in level of 

production is classified 

 

  (a) Overhead Cost    (b) Variable Cost (c) Fixed Cost     (d) Total Cost  

 j)  What is the equation of Sales & Revenue cost?  

  (a) S = b×Q     (b) ) S = b+Q       (c) ) S = a×Q      (d) None of this  

 k)  Point at which Sales & revenue line & Total Cost line is intersect is known as ‘‘No 

Profit & No Loss’’ is it true? 

 

  (a)  Yes                         (b)  No                      (c)  cannot say        (d) None of this  

 l)  What is the equation of contribution ratio in B.E A?  

  

(a)      (b)        (c)         (d)    

 

 m)  The financial or quantitative interpretation  prior to a predefined period of time of a 

policy to be pursued for that period to attain given objective or goal is called... 

 

  (a) Contract     (b) Budget     (c) estimating     (d) None of this  

 n)  Salaries of staffs & watchmen, Insurance premium, Rent of building is example of 

…? 

 

  (a) Direct cost     (b) Fixed cost      (c) Variable cost      (d) None of this  

Attempt any four questions from Q-2 to Q-8 

Q-2  Attempt all questions (14) 

 1) State the steps involved in estimating  procedure. 3 

 2) Explain factory overheads with example. 4 

 3) What are the qualities of good estimator? 7 

    

Q-3  Attempt all questions (14) 

 1) How the gas welding cost is estimated? Explain in detail. 7 

 2) The catalogue price of a product is Rs. 15000. The discount given to the distributor 

is 20%. The selling overhead is 30% of factory cost. The direct material cost, direct 

labour cost and factory overheads in ratio of 1 : 4 : 2. If direct material is Rs. 2000, 

what will be the profit on each product ?    

7 

    

Q-4  Attempt all questions (14) 

 1) 50 cm long and 10 mm thick two MS plates is welded with a lap joint using 

electrode with length of 6 mm at both sides. Find the Welding Cost from the 

following details. 

Current = 250 Amp, Voltage = 30 V, Welding Speed = 10 m/hour, Electrode used = 

0.4 kg/meter weld, Labor cost = Rs. 10/hour, Power consumption=Rs. 21 kwh, Cost 

of Electrode= Rs. 50 per kg., Capacity of Machine = 60% 

7 

 2) Explain man hour rate method of overhead allocation. 4 

 3)  Differentiate between costing and estimating. 3 

    

Q-5  Attempt all questions (14) 

 1) Define and explain break even analysis. state its advantages also. 7 

 2) Explain elements of cost in foundry shop. 7 

    

Q-6  Attempt all questions (14) 
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 1) Define Contract. Explain types of contract. 7 

 2) Define following terms. A. Shape weight, B. Net weight, C. Gross weight, D. Tong 

loss, E. Scale loss, F. Shear loss, G. Sprue loss, H. Flash loss 

7 

    

Q-7  Attempt all questions (14) 

 1) Define budget & State the benefits of budget. 7 

 2)  State & explain advantages of cost analysis. 7 

    

Q-8  Attempt all questions (14) 

 1) Define cost reduction. Write-down factors to reduce production cost. 7 

 2) One machine was purchased of 50,000 Rs. The machine was started by 1
st
 January, 

1972. The installation cost of machine 5000 Rs. The machine was removed on 31
st
 

December, 1992. The residual cost is 15000 Rs. Find the following (Straight line 

method) 

1) Rate of depreciation 

2) Total depreciation cost on 30 Jan, 1987. 

7 

    
 

 

Q-1  વાચો વલકલ્઩ ઩વદં કયો. 
 

(14)  

 a)  કોસ્ટ accounting ભા ંઓલયટાઈભન ેળાના તયીકે ગણલાભા ંઆલે છે?   

  A)  અપ્રત્મક્ષ કકિંભત B)  ઓલયશડે 

કકિંભત 

C)  પ્રીભીમભ 

કકિંભત 

D)  A અન ેB ફનં ે  

 b)  નીચેનાભાથંી કઈ વીધી ભારની કકિંભત છે?  

  A) ઱બુ્રીકન્ટવ B) ઇંધણ C) ગ્રીવ D) પનીચય ભાટેનુ ંરાકડુ ં  

 c)  ડામયેક્ટ ભટીયીમર કકિંભતને ડામયેક્ટ ઉત્઩ાદન ખચચભા ંઉભેયલાભા ંઆલ ેછે, જેથી શુ ં

ભે઱લી ળકામ? 

 

  A)  કડસ્કવ કકિંભત B)  પ્રાઈભ 

કકિંભત 

C)  લેચાણ કકિંભત D)  એક ઩ણ નકશ  

 d)  નીચેનાભાથંી કયુ ંઆકચ લેલ્ડીંગ કકિંભતને અવય કયત ુ઩કયફ઱ છે?  

  A) ભજુયી ખચચ B) લેલ્ડીંગનો 

વભમ 

C) ઩ાલય ખચચ D) ઉ઩યના તભાભ  

 e)  અપ્રત્મક્ષ કકિંભતને કોઈ ઩ણ ચોક્કવ કકિંભતના ઓબ્જજેકટ ભાટે અવાઈન કયલી જેને શુ ંકશ ે

છે?  

 

  A)  ઇકોનોવભક B) કોસ્ટ ટે્રવવિંગ C)  કકિંભતની D)  નોન ઇકોનોવભક  
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કકિંભત લશચેણી કકિંભત 
 f)  બવલષ્મભા ંથનાય ખચચન ેચોક્કવ યીતે આગાશી કયી આ઩તી ઩દ્ધવતન ેશુ ંકશ ેછે?The 

technique  

 

  A)  યવુનટ 

એસ્ટીભેળન 

B)  પ્રોડક્ળન 

એસ્ટીભેળન 

C)  કોસ્ટ 

એસ્ટીભેળન 

D)  પ્રાઈવ એસ્ટીભેળન  

 g)  D.G.S & D નુ ંપરંુૂ નાભ શુ ંછે?  

  (a) Directorate 
general of supplies 
& disposals 

(b) Director of 
general supply 
& disposals  

(c) Director of 
general supply & 
dissipation 

(d) એક ઩ણ નકશ  

 h)  કમા પ્રકાયના કયાયભા ંભાનલ ળક્ક્ત પયૂી ઩ાડલાની જલાફદાયી કયાય કયનાયને આ઩લાભા ં
આલે છે? 

 

  (a) રેફય કયાય   (b) વાભગ્રી કયાય    (c) ળેડયરુ કયાય   (d) ઉ઩યના તભાભ  

 i)  ટોટર કોસ્ટનો જે ઘટક કે જેભા ંઉત્઩ાદનભા ંપેયપાય થલાથી જેની કુર કકિંભત ભા ંક્યાયેમ પેય 
઩ડતો નથી તેન ેશુ ંકશલેામ? 

 

  (a) ભાથાદીઠ કકિંભત    (b) ચલરત કકિંભત    (c)ચલરત(કપક્વડ) 

કકિંભત    
 

(d) કુર કકિંભત  

 j)  વેલ્વ અન ેયેલન્ય ુકકિંભત નુ ંસતુ્ર કયુ ંછે?  

  (a) S = b×Q     (b) ) S = b+Q       (c) ) S = a×Q      (d) એક ઩ણ નકશ  

 k)  વેલ્વ અન ેયેલન્ય ુયેખા તથા કુર કકિંભત યેખા જમા ંછેદે છે તે લફિંદુને ‘No Profit No Loss’ 
કશલેામ છે. શુ ંઆ વાચુ ંછે?  

 

  (a) શા                     (b) ના ં (c) કશી ના ંળકામ (d) એક ઩ણ નકશ  

 l)  B.E.A. ભા ંકન્ટ્રીબળુન યેવળમોનુ ંસતૂ્ર કયુ ંછે?  

  

(a)      (b)        (c)         (d)    

 

 m)  આ઩ેરા ધ્મેમન ે઩શોંચી લ઱લા પલૂચ વનવિત વભમગા઱ા ની ઩ોરીવી તેટરા જ વભમભા ં
શાથ ધયામ તે ભાટે કયલાભા ંઆલતા નાણાકીમ અથલા જથ્થાકકમ અથચઘટનણે શુ ંકશ ેછે? 

 

  (a) કયાય    (b) ફજેટ     (c) એસ્ટીભેટીંગ    (d) એક ઩ણ નકશ  

 n)  કભચચાયીઓ અને ચોકીદાયોનો ઩ગાય, લીભાનુ ંપ્રીભીમભ, ઈભાયતનુ ંબાડુ ંળાના ઉદાશયણ 
છે? 

 

  (a) ડામયેક્ટ કકિંભત   (b) કપક્વડ 

કકિંભત    

(c) ચલરત કકિંભત     (d) એક ઩ણ નકશ  
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પ્ર-૨ થી પ્ર-૮ ભા ંથી કોઈ ઩ણ ચાય રખો. 

Q-2  નીચેના પ્રશ્નોના ઉત્તર આપો. (14) 
 1) એસ્ટીભેળન પ્રકિમાભા ંઆલતા સ્ટેપ્વ ની માદી ફનાલો. 3 
 2) ઉદાશયણ વાથ ેપેક્ટયી ઓલયશડે વભજાલો. 4 
 3) વાયા અંદાજકાયના ગણુધભો જણાલો. 7 
    

Q-3  નીચેના પ્રશ્નોના ઉત્તર આપો. (14) 
 1) ગેવ લેલ્ડીંગ કકિંભત કેલી યીતે અંદાજામ ? વલગતલાય વભજાલો. 7 
 2) પ્રોડક્ટની સલૂચ કકિંભત રૂ. 15000. કડસ્ટ્રીબ્જયટુયને ભ઱તુ ંકડસ્કાઉન્ટ 20% છે. વેલરિંગ 

ઓલયશડે પેક્ટયી ખચચના 30%  છે. વીધો વાભગ્રી ખચચ, વીધી શ્રભ ખચચ અન ેપેક્ટયી 

ઓલયશડે 1: 4: 2 ગણુોત્તયભા.ં જો વીધો વાભગ્રી રૂ. 2000, દયેક ઉત્઩ાદન ઩ય નપો શુ ં

શળ?ે 

7 

    
Q-4  નીચેના પ્રશ્નોના ઉત્તર આપો. (14) 

 1) ૫૦ cm રાફંી અને ૧૦ mm જાડાઈલા઱ી ફે એભ. એવ. પ્રેટને ફનંે ફાજુએ 
રફંાઈભા ં૬ mm ભા઩ના ઇરેક્ટ્રોડ લા઩યીને રે઩ જોઈન્ટથી લેલ્ડીંગ કયલાનુ ંછે. 
નીચેની વલગતો ઩યથી લેલ્ડીંગ કોસ્ટ ળોધો. 
લીજપ્રલાશ = ૨૫૦ amp 
લોલ્ટેજ= ૩૦ V 
લેલ્ડીંગ સ્઩ીડ= ૧૦ m/hour 
ઇરેક્ટ્રોડ લ઩યાળ=૦૪ kg/ meter weld 
ભજૂયી ખચચ=Rs. ૧૦ / hour 
઩ાલય ખચચ=યવ. ૨૧ kwh 
ઇરેક્ટ્રોડની કકિંભત= Rs. ૫૦ per kg. 
ભળીનની ક્ષભતા= ૬૦% 

7 

 2) ઓલયશડે પા઱લણીની ભેન કરાક દય ઩દ્ધવત વભજાલો. 4 
 3) ખચચ અન ેઅંદાજ લચ્ચ ેતપાલત આ઩ો. 3 
    

Q-5  નીચેના પ્રશ્નોના ઉત્તર આપો. (14) 
 1) બ્રેક ઇલન એનારીવીવ ની વ્માખ્મા આ઩ી વભજાલો. તેના પામદાઓ ઩ણ રખો. 7 
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 2) પાઉન્રી ળો઩ભા ંકકિંભતના ઘટકો વભજાલો. 7 
    

Q-6  નીચેના પ્રશ્નોના ઉત્તર આપો. (14) 
 1) કોન્ટે્રકટની વ્માખ્મા આ઩ી. તેના પ્રકાયો વભજાલો. 7 
 2) નીચેના ઩દોની વ્માખ્મા આ઩ો. 

A. ળેઈ઩ લજન, B. નેટ લજન, C. ગ્રોવ લજન, D. ટોંગ રોવ, E. સ્કેર રોવ, F. વળમય 

રોવ, G. સ્ર ુરોવ, H. ફ્રેળ રોવ 

7 

    
Q-7  નીચેના પ્રશ્નોના ઉત્તર આપો. (14) 

 1) ફજેટની વ્માખ્મા આ઩ો. ફજેટના ંપામદા જણાલો. 7 
 2)  ઩ડતય વલશ્રે઴ણ (કોસ્ટ એનારીવીવ)ના ંપામદાઓ રખો અન ેવભજાલો.  7 
    

Q-8  નીચેના પ્રશ્નોના ઉત્તર આપો. (14) 
 1) ખચચ ઘટાડાની વ્માખ્મા આ઩ો. અને ઉત્઩ાદનનો ખચચ ઘટાડલા ભાટેના જરૂયી ઩કયફ઱ો 

જણાલો. 
7 

 2) એક ભળીન રૂ. ૫૦૦૦૦ ભા ંખયીદલાભા ંઆવ્યુ ંશત ુ.ં ભળીન ૧ જાન્યઆુયી, ૧૯૭૨ ભા ંળરુ 
કયલાભા ંઆવ્યુ ંશત ુ.ં ભળીનનો ઇન્સ્ટોરેળન ખચચ ૫૦૦૦ છે. ભળીન ૩૧ ડીવેમ્ફય, ૧૯૯૨ 
ભા ંકાઢી નાખલાભા ંઆવ્યુ.ં ભળીનની ળે઴ કકિંભત રૂ. ૧૫૦૦૦ છે. તો નીચેની લસ્તઓુ 
ળોધો. (સ્ટે્રઈટ રાઈન ભેથડ) 
૧) ઘવાયાનો દય 
૨) ૩૦ જાન્યઆુયી, ૧૯૮૭ ના યોજ કુર ઘવાયાની કકિંભત 

7 

 


